STATUS UPDATE OF DGR EMPANELLED SECURITY AGENCIES FOR HIMACHAL PRADESH

Data upto 02 Jul 2025

- 1. Refer MoD/ DESW Guidelines for operation/ functioning of DGR empanelled ESM Security Services vide their No 28(75)/2020-D(Res-1) dated 13 May 2021 and Corrigendum No. 28(75)/2020-D(Res-1) dated 23 Jun 2021. The Data uploaded herein is compiled duly based on 'Reports and Returns' submitted by Proprietors & their Principal Employer (including requisitions & sponsorships) to/with DGR/ DRZ's.
- 2. Number of guards/ total guard months reflected against each agency is subject to minor revisions(s) especially 'Under Negotiation' (U/N) column based on differences (if any) between number of guards sponsored by DRZ's with due date vis-à-vis their materialization as / if / when reported by the Principal Employer / concerned Proprietor (the onus rests with the proprietors to report difference with documentary proofs).
- 3. DGR New Delhi will issue Empanelment Certificate for a duration of Five (05) Years or upto the age of 60 years (whichever is earlier) as per Para 6(a) of MoD OM 13 May 2021.
- 4. Following documents / details will produced at the time of issuance / renewal of Empanelment Certificate (in Original) :-
- Aadhar Card
- PAN Card
- ESM Identity Card (Issued by ZSB)
- PSARA License
- Revised Affidavit by Ex-Servicemen (Officers) for DGR Security Agency scheme (Original)
- Current Bank Account in the name of agency (Copy of passbook duly attested)
- Proof of office (Copy of Rent Agreement / Ownership documents & Landline Bill)
- Mobile number & Email ID
- GeM Vendor Code
- Form 26 AS will be downloaded in physical at DGR
- Photographs 02 Numbers (Passport size)
- 5. "D" denotes "Documentary deficiency/ Violation". Concerned offices may be approached with requisite documents for removal of "D". Proprietors in operation list with remark "D" will not be considered for sponsorship irrespective of Seniority/ WL.
- 6. Proprietor whose Empanelment Certificate is expired/ about to expire is requested to contact respective DRZ for renewal of Empanelment Certificate.

(a) Status: Operational

S	Emp	Name of Security Agency	Gd Detis				Remarks
			Running	U/N	Total	Cumulat ive	
1	4239	Shameer Puri Security Agency VPO - Jassur, Tehsil - Nurpur, District - Kangra (H.P) - 176201 Tele No - 01893 2214450 Mob - 94390 22866 Email - puri.shameer@gmail.com	0	0	0	2105	(a) 'D' Emp Cert expired, 26 AS not recd. (b) Details of availed guards 09 Gds for 24 months = 216 06 Gds for 35 months = 213 03 Gds for 11 months = 33 04 Gds for 24 months = 96 03 Gds for 35 months = 105 16 Gds for 5 months = 80 12 Gds for 25 months = 300 06 Gds for 24 months = 144 06 Gds for 17 months = 102 03 Gds for 24 months = 72 28 Gds for 24 months = 672 03 Gds for 24 months = 72 (c) Total 2105 Gd months
2		Mohnesh Singh Security Agency Plot No - 66, Sector - 1, Parwanoo District - Solan (H.P) - 173220 Tele No - 01792 233821 Mob - 7814621821 Email - montybhatia@rediffmail.com	0	0	0	1320	(a) Details of Availed guards. 28 Gds for 24 months = 672 27 Gds for 24 months = 648 (b) Total 1320 Gd months
3	7560	Amarjot Singh Mangat Security Agency R/o SK Industries Office No - 1B, First Floor, Plot No - 66, Sector - 01, Parwanoo, District - Solan (H.P) Tele - 01792 - 232401 Tele No - 8237231401 Email - amarjotmangat@gmail.com	10	0	10	1248	(a) Details of Availed guards. *44 gds for 12 months = 528* *40 gds for 12 months = 480* (b) Details of running Guards 03 gds for 24 months = 72 04 Gds for 24 months = 96 03 Gds for 24 months = 72 (b) Total 1248 Gd months.

4	7343	Maj Sunita Rana Village - Hatli Patyalan, Tehsil - Bangana, District - Una (HP) - 174307 Tele - 01975 292734 Mob - 82888 69923 Email - sunitaranapatyal@gmail.com	55	0	55	1320	(a) Details of running Guards 27 gds for 24 months = 648 28 gds for 24 months = 672 (b) Total 1320 Gd months.
5	6974	Preeti Sharma Security Agency Khasra No - 26-27, GF, Mauza Ambota (Dhaggar), Parganabagat, Tehsil - Kasauli, District - Solan, Parwanoo, Solan (H.P) - 173220 Tele - 83960 12611 Mob No - 83960 12611 Email - aithani.preeti@gmail.com	51	0	51	1224	(a) Details of running Guards 12 Gds for 24 months = 288 21 Gds for 24 months = 504 18 Gds for 24 months = 432 (b) Total 1224 Gd months.
6	8098	Vivek Thapliyal Security Agency Shop No - 03, Amar Jyoti Complex at Sai Road Baddi, Ward No - 01, VPO & Tehsil - Baddi, Solan, Himachal Pradesh - 173205 Tele No - 01795 298029 Mob No - 74578 14573 Email - vvkthapliyal@gmail.com	50	0	50	1200	(a) Details of running Guards 43 Gds for 24 months = 1032 07 Gds for 24 months = 168 (b) Details of UN Guards NIL (c) Total 1200 Gd months.
7	8964	Sandeep Singh Rawat Security Agency Office No - 1C, First Floor Sk Industries, Plot No - 66 Sector - 1, Parwanoo, Solan, Himachal Pradesh - 173220 Tele No - 01792 - 233623 Mob No - 80913 11623 Email - sandeerawat@gmail.com	51	0	51	1224	(a) Details of running Guards 32 Gds for 24 months = 768 07 Gds for 24 months = 168 12 Gds for 24 months = 288 (b) Details of UN Guards NIL (c) Total 1224 Gd months.
8	9012	Aman Pal Singh Security Agency Sk Industries, Plot No - 66, Office No - ID, First Floor, Sector - 1, Parwanoo, Solan, Himachal Pradesh - 173220 Tele No - 01792 233608 Mob No - 99718 98608 Email - secure.amanpal@gmail.com	46*	4	50*	1220*	(a) Details of running Guards 31* Gds for 05 months = 155 27* Gds for 19 months = 513 04 Gds for 24 months = 96 08 Gds for 24 months = 192 04 Gds for 24 months = 96 03 Gds for 24 months = 72 (b) Details of UN Guards 04 Gds for 24 months = 96 (c) Total 1220 Gd months. * Reduction of 04 Gds by PSU wef 16 Sep 2024.
9	8102	Sanjay Kakkar Security Agency Shop No - 04, Amar Jyoti Complexe at Sai Road Baddi, Ward No - 1, VPO & Tehshil - Baddi, Solan, Himachal Pradesh - 173205 Tele No - 01795 298394 Mob No - 81465 66727 Email - sanjaykakkar2@gmail.com	49	3	52	1233	(a) Details of running Guards 40 Gds for 24 months = 960 03 Gds for 24 months = 72 03 Gds for 24 months = 72 03 Gds for 24 months = 72 (b) Details of UN Guards 03 Gds x 19 Months = 57 (c) Total 1233 Gd months.
10	9141	Kanwar Deep Singh Security Agency Shop No - 1, Village - Toki, Post - Chhani, Tehsil - Indora, Kangra (HP) - 176403 Tele No - 01893 244044 Mob No - 70428 54433 Email - amankdsingh@yahoo.co.in	13	27	40	960	(a) Details of running Guards 13 Gds for 24 months = 312 (b) Details of UN Guards 27 Gds for 24 months = 648 (c) Total 960 Gd months.
11	8693	Praveen Deo Security Agency Room No. 2, Whistling Pines Complex, Mauza Anhech, Kumarhatti, Solan (HP) - 173220 Tele No - 0179-2292451 Mob No - 8285334394 Email - praveen50555deo@gmail.com	0	0	0	0	(a) WL - 1 (b) 'D' (SA requested for deferment of allotment of gds till 01 Jun 2025 letter dated 05 Jun 2024).

12	9499	Lokendra Singh Bisht Security Agency Sk Industries, Plot No - 66, Office Space, First Floor, Sector - 1, Parwanoo, Solan, Himachal Paradesh - 173220 Tele No - 01792 235401 Mob No - 86979 73661 Email - bishtsecureagency@gmail.com	0	0	0	0	WL - 2
13	9804	Kuljeet Singh Jawanda Security Agency Royal Chambers Ff Khasra No 802/700 Mohal Taksal, Sector - 2, Parwanoo Tehsil Kasauli, Solan, Himachal Pradesh - 173220 Tele No - 01792 235234 Mob No - 73409 14630 Email - harpynahor@gmail.com	0	28	28	672	(a) Details of running Guards NIL (b) Details of UN Guards 28 Gds for 24 months = 672 (c) Total 672 Gd months.
14	9773	Sanjay Thapa Security Agency Shop No 03, On ground Floor, Dhar ki Ber 763, Dharampur, Tehsil - Kasauli, Solan, Himachal Pradesh - 173209 Tele No - 01792 294750 Mob No - 97598 55865 Email - sanjaythapasec@gmail.com	0	0	0	0	WL - 3
15	10468	Shop No 03, Ground Floor, Dhar ki Ber, 763 Dharampur, Solan, Himachal Pradesh - 173209 Tele No - 01792 294006 Mob No - 96430 04502 Email - jeetkashyapsec@gmail.com	0	0	0	0	WL - 4
16	10711	Shailendra Malik Security Agency Shop No 2, Near Prabhu Kripa Welding Works, Kasauli Road, Sector - 04, Parwanoo, Solan, Himachal Pradesh - 173220 Tele No - 84279 55094 Mob No - 91007 59602 Email - shailendra.malik66@gmail.com	0	0	0	0	WL - 5
17		Amit Prabhakar Tripathi Security Agency Shop No 05, Ground Floor, Dhar Ki Ber, 763 Dharampur, Solan, Himachal Pradesh - 173209 Tele No - 01792 294006 Mob No - 78956 45500 Email - colamitprabhakar2024@gmail.com					WL - 6
18		Sandeep Kapur Security Agency Plot No 44, 2nd Floor, Sector - 2, Parwanoo, Distt - Solan, Himachal Pradesh - 173220 Tele No - 01792 235730 Mob No - 96100 27777 Email - sandeepkapur2024@gmail.com	0	0	0	0	WL - 7
19		Jitender Pal Singh Security Agency Shop No - 04, First Floor, Block 'E', Space - 9, Near Truck Union, Bye Pass Road, Baddi, Solan, Himachal Pradesh - 173205 Tele No - 98169 61843 Mob No - 81465 80005 Email - pjatinder247@gmail.com	0	0	0	0	WL - 8

				Page 4				
20 (b)		Sanjay Pathania Security Agency NH-154, Village - Khajjian, PO - Khel, Nurpur, Distt - Kangra, Himachal Pra 173200 Tele No - Mob No - 88947 88804 Email - sanjaypathania9@gmail.com : Overage / Disempanelled - Runr	desh-	0	0	0	0	WL - 9
(~)	Otatas	. Overage / Discinpanence - Nam	ing Guard	<u>45</u>				
S No	Emp No	Name of Security Agency	Date of overage	Running	U/N	Total		Remarks
1	7514	Paresh Dave Security Agency Shop No - 6, Chak Naglian P.O - Kandrori, Tehsil - Indora District - Kangra (H.P) - 176402 Tele - 9540491120 Mob - 9540491120 Email - deveparesh2002@gmail.com	29.02.24	48	0		48	(a) Overage (b) Details of running Gds 11 Gds for 24 Months = 264 06 Gds for 24 Months = 144 17 Gds for 24 Months = 408 14 Gds for 24 Months = 336 (c) Total 1152 Gd months
2	8911	Sanjeev Verma Security Agency Shop No 04, Chak Naglian, P.O - Kandrori, Tehsil - Indora, Distt - Kangra - 176402 Tele - 01792 - 264102 Mob No - 94277 97198 Email - sanjeev.verma.39@gmail.com	14.02.25	42	0		42	(a) Overage (b) Details of Availed Gds 42 Gds for 24 Months = 1008 (c) Total 1008 Gd months
3	9000	Chander Shekhar Security Agency B/H No - 971/2, Ward No - 1, Subash Nagar Tehsil & Distt - Hamirpur (HP) - 177001 Tele No - 01972 299644 Mob No - 75077 69090 Email - chander.shekhar303 @gmail.com	19.04.25	28	0		28	(a) Overage (b) Details of running Guards 28 Gds for 24 months = 672 (c) Total 672 Gd months.
4	5793	Vikas Choudhary Security Agency Shop No - 03, Ground Floor, Near Bus Stand, Jharmajri, PO - Barotiwala, Tehsil - Baddi, District - Solan (HP) PIN - 173 220 Tele - 01792 224962 Mob - 97790 83132 Email - chovikas355@gmail.com	21.04.25	50	0		50	(a) Overage (b) Details of running Guards 13 gds for 24 months = 312 05 Gds for 24 months = 120 04 Gds for 24 months = 96 12 Gds for 24 months = 288 06 Gds for 24 months = 144 03 Gds for 24 months = 72 04 Gds for 24 months = 96 03 Gds for 24 months = 72 (c) Total 1200 Gd months.